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. Write short anewera io any five paris. v {5x2=10) _iuf.p{u,-# LJ:E@F-_:U -,
=~ If two rasistors Ky = 6G{land fty = 1242 ara connected G F L e 2y o F Ry = 1240 4 Ry — 652 ,'_'r.f.-.:-.."i. i
in aerlon. What will be the eguivalent resistance? ' "5-“4} .
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LY Wite down any one mathod 1o detarmine tha north pole of currant LY EOY EEPY o FTY JESS S SUSTCUN
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W Wrile twe Radioactive elements other than Uranium. éﬁf . "-55”5 B s ~'. !
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viil. Define Controllad Chain Reaction. - T AR, FIT
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f. What s meant by Supar Computer? fowafe e 2
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" The capacilance of a paralisl plalez capachor 3l 00WF  Find the T’ JE:-JP-L 100nF % ﬁ ..!' L8 2t --:tf .
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W * Whal is loutinosa of sound7? Wrile twa faclors affeeting it ..fi,}f-jm’.bi.-ﬁﬁﬂ?lmﬁq._ﬁﬂf; ¥ :I.u.:r-r...'* ¥ RN
vile  Whal |a sound? How I5 It produced? e Mgl o i B v
uifli., Calculale the manuancy of sound waves ol spaad 34 0ms A 0.5m ﬁ!m‘l 340 ms ™! J;rdm.ﬁflafg‘tﬁ Mussdie vl
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4. Wrile short answers Lo eny five paris. j{,’;ﬂ:ﬁ.ﬁ.ﬂaﬂa&l -
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L A slmple pandulum compleles ona vibraikon In one g= 10ms ™2 .ﬁéﬂ"‘wﬁm q.lrffuﬁ,éta.fu: ,né-z_.iu:_fiﬁ_ﬁ."_i; ul
pocond, Find [1a langlh when g = 10ms b

k. What is meant by restoring forcet Tk = 1L,
iv. Dafina Magnificallon and write ks formula. ,"‘-idl RNl é_! E ,};?flﬁ’ N
w Radius of curvsture of a concave mirror is Fem, Find its focal length. .-ifr.f"”i@;,fldm_:;.mcm Ll ST ELF. ,..,f"__i. "
vt What |s meant by Accommaodatan? T s | LA Y
vii. Define AND Operalion and wrils its formula, .tfinwm.ué..z mAE Imqu vit
will,  Write down uses of logic gates. EJ—IF"'...H ....w vieh
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§. {r) Define Eleclric Curranl. How batlary is used as (P LBBL L IS S B Pl 5 o0 5
source of current. Explain It with diagram, (1+2+1) e S e B3
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{B) A wanstormer is needed to convart a mains 240V supply into a 12V AC supply. if thera are 2000 tums on tha
primary coll, then find tha numbar of lurns on the sacondary cail.
A4 (a) Dafina Eleciroslatic Induction. Prove with an activity o S E b e § o g ASY Bl ®y v
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(b) A marine survay ship sends a $ound wave straight 1o seabed. [l receives an acho 1.5 s laler. The sound spaed in
aisdi wiiles is | 500ms ' . Find the dapth of the sea et this cosition.
7. (@) Define Wave Motion, Etpiajnwllh an examplg (1+3) éu-'u.-:-‘,lb-uj it ad A" .&q "L‘r Lt 7
"Waves as carriers of enengy’ .
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(b) An object 30cm tsll is located 16.5cm from a concave mirror with focal length 16cm. {a) wher is the Image iocated?
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